PLANT ENTERPRISES PRODUCTION

_	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		1,275.0	580.00	739,500	lbs.	\$384,540
Seed - Non-irrigated		1,275.0	928.00	1,183,200	lbs.	\$65,076
Cotton (Total)	10	1,275.0				\$449,616
FORESTRY						
Pulpwood						
Pine				31,904		
Hardwood				13,501	cords	
Pulpwood (Total)				45,405		
Chip & Saw				2,716	cords	
Saw Timber						
Pine				20,920,881		
Hardwood				1,403,479	board feet	
Saw Timber (Total)				22,324,360		
Total Pulpwood, Chip & Saw	,					\$14,416,959
Saw Timber FOB Mill						
Total Forestry Stumpage						\$8,674,842
Christmas Trees	*			1,100	trees	\$44,000
Forestry (Total)						\$14,460,959
FEED GRAINS						
Corn	9	528.0	65.00	34,320		\$78,593
Grain Sorghum	*	475.0	39.50	18,762	cwt.	\$75,048
Feed Grains (Total)		1,003.0				\$153,641
HAY FOR SALE						
Grass	110	8,500.0	2.50	21,250	tons	\$1,062,500
Hay for Sale (Total)		8,500.0				\$1,062,500
HOME GARDENS NURSERY CROPS	4,800					\$1,440,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$150,000
Plants						
Woody Ornamentals	*				acre	\$500,000
Nursery Crops (Total)						\$650,000
RICE	165	43,689.0	62.35	2,724,009	cwt.	\$15,118,250
SOYBEANS	40	16,891.0	32.00	540,512	bu.	\$3,594,405
SUGARCANE		Ź				
Raw Sugar	10	2,801.0	4,550.00	12,744,550	lbs.	\$1,554,835
Molasses		2,801.0	137.00	383,737	gal.	\$55,642
Sugarcane (Total)		2,801.0				\$1,610,477
SWEET POTATOES		ŕ				
Canning				97,500		\$195,000
Fresh				146,250		\$2,632,500
Sweet Potatoes (Total)	*	650.0	375.00	243,750	bu. (50 lbs.)	\$2,827,500
WHEAT	14	2,088.0	55.00	114,840	bu.	\$369,785
TOTAL ALL PLANT ENTERP	RISES					\$41,737,132

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Crawfish (Farm)	110	8,750 Acres in Prod.	6,500,000	lbs.	\$4,225,000
Alligators (Farm)			192,847	ft.	\$3,278,402
Aquaculture (Total)					\$7,503,402
FUR ANIMALS			1,426	pelts	\$7,558
ALLIGATORS (WILD)			450	ft.	\$9,900

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HUNTING LEASES	185	85,000 No. Acres		acre	\$467,500
		Leased			
HONEY	*	50 No. Hives	2,000	lbs.	\$2,700
TOTAL ALL FISHERIE	S & WILDLIFE ENTERPRISES				\$7,991,060

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,233	head	\$448,035
400-500 lbs.			2,343	head	\$979,386
500-600 lbs.			1,788	head	\$821,532
600-700 lbs.			802	head	\$417,040
Steer Calves (Total)					\$2,665,993
Heifer Calves					
300-400 lbs.			1,233	head	\$394,696
400-500 lbs.			2,343	head	\$883,229
500-600 lbs.			1,788	head	\$761,545
600-700 lbs.			802	head	\$390,975
Heifer Calves (Total)					\$2,430,445
Yearling Cattle					
600-700 lbs.			1,078	head	\$560,560
700-800 lbs.			462	head	\$259,875
Yearling Cattle (Total)					\$820,435
Cow-Calf Pairs			1,226	pair	\$882,720
Cull Cows				head	\$346,736

ANIMAL	ENTERPRISES	PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Cull Bulls				175	head	\$127,838
Cattle & Calves (Total)	302	17,516	No. Cows			\$7,274,167
HORSES						
Brood Mares						
Race Horses	10	110	No. Brood Mares	80	head	\$480,000
Show Horses	*	25	No. Brood Mares	23	head	\$69,000
Recreation Horses	100	250	No. Brood Mares	225	head	\$337,500
Brood Mares (Total)						\$886,500
Stud Fees						
Show Horses		3	No. Stallions	120	mares bred	\$180,000
Recreation Horses		20	No. Stallions	800	mares bred	\$80,000
Stud Fees (Total)						\$260,000
Race Horses	20			50	head	\$500,000
Show Horses	20			50	head	\$200,000
Recreation Horses	500			1,250	head	\$1,250,000
Horses (Total)						\$3,096,500
POULTRY						
Broilers	8			4,800	lbs.	\$2,928
Edible Eggs	20	25	No. Hens	6,000	doz. eggs sold	\$5,040
Cull Hens				2,000	lbs.	\$300
Poultry (Total)						\$8,268
SHEEP						
Wool		544	No. Sheared	2,660	cwt.	\$426
Slaughter Lambs					head	\$7,948
Feeder Lambs				99	head	\$6,386
Show Lambs				100	head	\$27,500
Stocker Sheep				22	head	\$1,045

ANIMAL ENTERPRISES PRODUC	CTTON
---------------------------	-------

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SHEEP					
Cull Sheep			15	head	\$525
Sheep (Total)	9	242 No.Breeding Ewes			\$43,829
GOATS					
Show Goats			20	head	\$3,000
Slaughter Goats			187	head	\$15,895
Stocker Goats			168	head	\$10,920
Cull Goats			53	head	\$2,226
Goats (Total)	12	300 No. Does			\$32,041
SWINE					
Show Pigs			75	head	\$22,500
Feeder Pigs			104	head	\$1,872
Slaughter Hogs			45	head	\$5,558
Culls			4	head	\$440
Swine (Total)	*	16 No. Sows			\$30,370
TOTAL ALL ANIMAL	ENTERPRISES				\$10,485,174
EVANGELINE PAR	ISH TOTAL				\$60,213,367